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EED a,bce RIZHL, |la—c| <l|a—bl+[b—¢

:nl U 4 do(m’ Z) Z'L_O Ixt—z‘l| < Zz—O(lzi_yil-l-lyi_zil) = Z?:O |mi_yi|+2?=0 |yi—2i‘ =
do(z,y) + do(y, 2). £-T (D3) ALY L.

6] doo 2SEEHE (BB2K) DS (D1),(D2),(D3) 2MF+ = &S IT L.
(Dl) 7‘3%7336, doo(x’y) = ma.x{|m1 - yll’ R |(En - yﬂl} 2 0.

F, dolz,y) =0<= 21— 9| =0,...,|Zn—t| =0<=z1=y,.. . Tn =y =T =Yy
v, (D1) W

(D2) doo(z,y) = max{|z1 — 1], .., |Zn — Ya|} = max{|yy — z1|,-. ., |y — Znl} = du(y, 7).
(D3) do(z,2) = |z — 2|, (L Sk <) & T 5L, dool,2) = |z — 28| < |2 — e + |y — 2| <
max{|z; — 41|, ..., |Zn — Ynl|} + max{lzs — 21|, ..., [t — 2|} = deo(Z, ) + deo(¥, 2)-

[7] <5RX4> (i) do(z,y) = V17, (ii) do(z,y) =1, (iii) di(z,y) =5, (iv) deo(z,y) = 4

[8] <5mX4> (i) do(z,2) = V1T, da(y, 2) = V12 & 9,
—FBHVDIZy & 2z, — BB DTz Ly, z & 2
(ii) do(z,2) = do(y,2) =1 &Y, ED2 LR LEMTHS.
(i) di(z,2) =7, di(y,2) =6 £V, —FTFV DIz Ly, —BEEVDITz & 2.
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